= 62 52 4% 38
=g 2Z(E) | HA(RE)| 2B(E) | HH(EB) | 2UE) | AR 22E) |12HEHE)
o= 5,300 8405 | 4,132 6514 3426 5067 | 3440 5356
=L
HatA! 3,120 8,374 4,015 10,732 2,606 6,703 5,631 13,687
7tz 23 52 23 53 23 40 23 52
Al 23 49
Hiot= 95 257 144 376 119 322 248 645
S| 8,538 17,089 8,313 17,675 6,174 12,132 9,365 19,688

20104 18 ~ 20134 68

=g | 20104 20114 20124 20134

CIE | +B(E) | 7HA(HE) | +B(E) |71H(HE) | £B(E) |7HH(HB) | £8(E) |7H1E(HE)

14 5,929 9,576| 5,037 9215| 8844 | 17,839 | 12621 | 27,315

2g 4,882 7,761 7162 | 11,867| 10,098 | 21,580 7,092 | 14,987

38 7,905 | 17,028 10,121 | 15615| 10,836 21,858 9,365| 19,688

48 7,951 | 12,771| 11,846 | 24,782| 13435 29,174 6,174 | 12,132

59 7,796 | 12,753| 11,169 | 19,302 | 14,519 31,654 8,313| 17,675

62 11,321 | 19,297| 11,298 | 21,705 9,812| 21,984 8,538 | 17,089

7€ 9,140 | 17,239| 17,793 | 33,860| 10,521 | 26,528

8¢l 12,231 | 25462| 9680 | 19,786| 9,111 | 18539

o 10,212 | 17,861 4747 | 10,988| 7,103| 18,560

108 8,182 | 15980 6,394 | 13,741 8,193 | 16,270

118 6,911 | 12779 6,888 | 15837 7,987 | 18,436

128 6,524 | 12,107| 6504 | 13,723| 7,684| 16,086

Al 98,984 | 180,614 | 108,639 | 210,421 | 118,142 | 253,508 | 52,103 | 108,885
HHT 8,249 | 15,051 9,053 | 17,585 9845 | 21,126 8,684 | 18,147
FAchH| 169.3% | 181.0%| 1098% | 1165% | 1087% | 1205% | 771%| 75.6%
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